Rechenkastchen
Ubungen

Erganze die Rechenkastchen.

| 83 |-| 34 = 49 | 76 |- 61 |5
| 6-5 - 1-4 = 51 | | 6-9 - 2-1 =
.
83 - 35 = | 79 |- 69 =
| 7-0 - 1-1 = | 5_0 - 4-8 =
. .
64 - 32 = 78 |- 77 5
| 4-1 - 2-6 = | 6-5 - 6-0 =
. .
70 - 51 = 53 |- 39 =
A 1o |- 1 ]
. .
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Rechenkastchen
Lésungen

Erganze die Rechenkastchen.

34 |=| 49 | | 76

| 83

65 |- 14 |= 51 | | 69

18 [ 20

| 83 |- 35 |= 48 | 79 |- 69 |= 10 |
70 |- 11 < 59 50 - a8 |- 2
2] 21

64 |- 32 |= 32 | 78 |- 77 = 1|
4] 2 = 15 | 65 |-/ 60 = 5 |

23] [ 6|

70 |- 51 = 19 | | 53 |- 39 |= 14 |
43 |-/ 34 = 9 | 19 - 11 = 8 |
(34 | 28]
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